
 

Competencia lingua inglesa

  

 

 

Nivel 3  

Sinatura

Firma

Obxectivo / Objetivo Avaliar as capacidades vinculadas á competencia lingüística, lingua inglesa. / Evaluar las
capacidades vinculadas a la competencia lingüística, lengua inglesa.

Duración 1 hora

Estrutura da proba / 
Estructura de la 
prueba

A proba está integrada por un texto con cinco cuestións de elección múltiple sobre este
(Reading), seis cuestións de elección múltiple sobre vocabulario e gramática ingleses e
unha pregunta de resposta aberta (Writing). / La prueba está integrada por un texto con
cinco cuestiones de elección múltiple sobre este (Reading), seis cuestiones de elección
múltiple  sobre vocabulario  y  gramática  ingleses y  una pregunta de respuesta abierta
(Writing).

Bolígrafo de tinta negra ou azul / Bolígrafo de tinta negra o azul

Criterios de 
cualificación da 
proba / Criterios de 
calificación de la 
prueba

Materiais que pode 
utilizar /  
Materiales que puede 
utilizar

Cada pregunta de elección múltiple valórase con 1 punto e a pregunta de resposta aberta
valórase con 4 puntos. A puntuación máxima é de 15 puntos.

CONSELLERÍA DE 
EMPREGO, COMERCIO
E EMIGRACIÓN CLI-N3-20
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COMPRENSIÓN  ESCRITA.  LEA  O  TEXTO  SEGUINTE  E  ESCOLLA  A  OPCIÓN
CORRECTA.

COMPRENSIÓN ESCRITA. LEA EL TEXTO SIGUIENTE Y ELIJA LA OPCIÓN CORRECTA.

A Futuristic New City

Saudia Arabia is planning to invest between $100–$200 billion to build a green oasis in the desert—a
futuristic city with no cars, no streets, and zero net carbon emissions.

Announced this month by the Crown Prince Mohammed bin Salman, The Line is a 106-mile-long belt of
hyperconnected communities stretching from the mountains of northwest Saudi Arabia to the Red Sea.

But unlike the polluting metropolises of today, this city of 1 million will be powered by “100% clean
energy,”  with  residents  transported  about  by  “autonomous  mobility  solutions”  and  ultra-high-speed
transit.

The Line is laid in three layers: a surface layer for pedestrians, plus two subterranean layers for transport
and infrastructure. The design, says Bin Salman, will preserve 95% of the region’s natural environment.

“Why should we sacrifice nature for the sake of development?” he said. “Why should 7 million people
die every year because of pollution? Why should we lose 1 million people every year due to traffic
accidents?”

Rather than one long development, the city is arranged as clusters of aggregated urban areas along a
central “spine.” Schools, shops, and other necessities will all be within a five-minute walk, developers
say, and “no journey will be longer than 20 minutes.”

Plans say artificial intelligence will improve daily life for residents and businesses alike, with a projected
90% of available data to enhance infrastructure capabilities. Developers predict  the Line will generate
380,000 new jobs and boost Saudi Arabia’s gross domestic product GDP by some $48 billion.

(Adapted from www.architecturaldigest.com)

1. What is the text about?

 A. About a new city, The Line, by the Nile in Egypt.

 B. About a new city in Saudi Arabia, between the mountains and the Red Sea.

 C. About an existing city in Saudi Arabia.

2. How long will the city be?

 A. It will be 106-mile long. 

 B. It will be 40 km long.

 C. It will be 70 mile long.
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3. What will its structure be? 

 A. It will be structured in five layers and organised in clustered of aggregated urban
areas, but everything will be less than a 20-minute distance. 

 B. It will be structured in three layers and organised in clustered of aggregated urban
areas and everything will be less than a 20-minute distance. 

 C. It will be structured in two layers and organised in clustered of aggregated urban
areas and everything will be less than a 20-minute distance.

4. What is not correct about The Line?

 A. Its environment friendly structure.

 B. It will not improve the life of residents.

 C. The Line will have no cars nor streets and zero net carbon emissions.

5. What will The Line create?

 A. It won’t create new business.

 B. It will create a high number of new jobs and increase the country GDP. 

 C. I t won’t develop artificial intelligence.

GRAMÁTICA E VOCABULARIO. ESCOLLA A RESPOSTA CORRECTA.

GRAMÁTICA Y VOCABULARIO. ELIJA LA RESPUESTA CORRECTA.

6. When it’s raining and cold you need...

 A. some shorts.

 B. an umbrella.

 C. a pair of sandals.

7. Choose the correct answer.

 A. I must go to bed. It’s one in the morning.

 B. I needn’t go to bed. It’s one in the morning.

 C. I shouldn’t go to bed. It’s one in the morning.

8. Choose the correct answer.

 A. I already went to his house today.

 B. I have already been to his house today.

 C. I have still been to his house today.
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9. Choose the correct answer.

 A. Malerie had been reading the book before putting it back on the bookcase. 

 B. Malerie has been reading the book before putting it back on the bookcase. 

 C. Malerie had been read the book before putting it back on the bookcase.

10. Choose the correct answer.

 A. He was born in the first day of February on winter. 

 B. He was born on the first day of February in winter.

 C. They are born into the first day of February in winter.

11. Choose the correct answer.

 A. Where have you gone last Thursday? I have been to the snack bar.

 B. Where went you last Thursday? I was to the snack bar. 

 C. Where did you go last Thursday? I went to the snack bar.

12. Expresión escrita. Mirando ao futuro, cales poden ser as vantaxes e desvantaxes das
viaxes espaciais? (75 – 100 palabras).

Expresión escrita. Mirando al futuro, ¿cuáles cree que pueden ser las ventajas y desventajas
de los viajes espaciales? (75 – 100 palabras).

Writing. Looking to the future, what do you think will be the advantages and disadvantages
of space travel? (75 – 100 words).
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